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What value should come in the place of question mark(?)in the following questions.

323.46 + 23.04 − 43. 17 −  ? = 303

(A)0.33 (B)0.47 (C)0.24 (D)0.43 (E)None of these



\What value should come in the place of question mark(?)in the following questions.

= ?

(A)1.25 (B)0.5 (C)0.25 (D)0.75 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

32 % of 1950 + 25% of 1440 = 1080 − ?

(A) 55 (B)96 (C) 94 (D)95 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

18³− 33² = ? × 15

(A)316.2 (B)322.5 (C)328.8 (D)312.4 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

= ?

(A) 71 2/5 (B)- 168 5/8 (C)-160 5/8 (D)-140 3/8 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

78% of 250 − ?% of 300 = 10²

(A) 30.33 (B)29.67 (C) 32.25 (D)33.75 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

122 × 44 − 45² = ?% of 400

(A)831.25 (B) 844.75 (C)835.75 (D)825.5 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

= ?

(A) 1050 (B)1400 (C)1000 (D)1200 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

= ?

(A) 4 31/40 (B) 5 17/20 (C)5 13/40 (D)5 33/40 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

2221 + 3456 + 2435 + 1324  = ?

(A)9032 (B)9136 (C)9436 (D) 9236 (E)None of these



\
Directions (Q. 16-20):- Direction for Question

Study the following information carefully and answer the question given below it:
निम्ननिखित जािकारी का ध्यािपूर्वक अध्ययि करें और उसके िीचे निए गए प्रश्न का उत्तर िें:
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Q.16 :-If the income of company D and B together is Rs. 480 crore then find the profit of 
company B in that year? (up to two decimal points) यनि कंपिीD और B की एकसाथआय रु. 
480 करोड़ तो उस र्र्व कंपिी B का िाभ ज्ञात कीनजए? (िो िशमिर् अंक तक)

(A)127.56 (B)142.11 (C)118.09 (D)139.13 (E) None of these
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Q.17 :-If the expenditure of company D is 1520 crore, what was the expenditure of company 
E?
यनि कंपिीD काव्यय 1520 करोड़ है, तो कंपिी E काव्यय नकतिा था?

(A)696.67 (B)588.33 (C)625.25 (D)595.50 (E) None of these
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Q.18 :- If in the given financial year income of company A was 660 crore. What was the total 
expenditure of company C and F in that year?
यनि निए गए नर्त्तीय र्र्व में कंपिी A कीआय 660 करोड़ थी। उस र्र्व कंपिी C और F का कुि
व्यय नकतिा था?

(A)696.5 (B)707.75 (C)456.25 (D)742.5 (E) None of these



\
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Q.19 :-What is the ratio of the expenditure of company B to company F?

कंपिी B के व्ययका कंपिी F से अिुपात नकतिा है?

(A)12:25 (B)10:23 (C)5:12 (D)17:37 (E) None of these `



\
What should come at place of the question mark (?) in the following number series ?

20 . 22 , 31 , 49 , ? , 112 , 157

(A)76 (B)78 (C)75 (D)74 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

21 . 23 , 69 , 161 , 345 , ? , 1449

(A)715 (B)713 (C)710 (D)718 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

22 . 587 , 443 , 343 , 279 , 243 , ?  

(A)225 (B)220 (C)226 (D)227 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

23 . ?  2023 , 2007 , 2071 , 1815  

(A)2018 (B)2019 (C)2017 (D)2016 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

24 . 17 , 98 , 26 , 89 , 35 , ?   

(A)80 (B)75 (C)60 (D)70 (E)None of these



\
Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 



\
Q.25 :- I. x³ =  1331                                  II.  y³  = 1728

Q.26 :- I. x³ − 2695  = 11129                    II.  y³ − 6329 − 5838 = 0

Q.27 :- I. x²−29x + 204= 0 II. y²− 34y +285= 0

Q.28 :- I. x²− 5x− 36=0 II. y2 +16y + 55 = 0

Q.29 :- I. x2 − x − 2 =0 II. y² + 3y + 2=0



\A work is started by a man and it is assumed that he will finish the work in 11 days if working 
alone. Each subsequent day a new man joined the work. In how many days the four times the 
original work will be completed, if after the 8th day from the starting of the work no new man 
will be further added?
एककाम एकआिमी द्वारा शुरू नकया जाता है और यह मािा जाता है नक र्हअकेिे कामकरिे पर
11 नििो ं में कामित्मकर िेगा। प्रते्यकबाि के निि एकियाआिमी काम में शानमि हुआ। प्रारंनभक
कायव के चार गुिे कायव को नकतिे नििो ं में पूरा नकया जाएगा, यनिकायव शुरू होिे के 8 र्ें निि के बाि
कोई ियाआिमीआगे िही ंजोड़ा जाएगा?

(A) 5 (B)6 (C)7 (D)8 (E)9



\Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्यतौि पैमािे के बजाय एक िुकाििार जािी पैमािे का उपयोगकरता है। उन्ोिें िरीिते
समय 1.4 नकिो से्किका इसे्तमाि नकयाऔर बेचते समय 840g पैमािे पर, उिका कुििाभ
प्रनतशतक्या होगा, अगर अंत में र्ह 10% छूट प्रिािकरता है?

(A)30% (B)40% (C)50% (D) 60% (E)70%



\There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एकसीधी रेिा में 3 नबंिु P, Q औरR हैं, इस प्रकार नक नबंिुQ, नबंिु P औरR से समाि िूरी पर है।
एकआिमी नबंिु P से R अिुप्रर्ाहकीओर 24 घंटे में औरQ से P उर्ध्वप्रर्ाह 16 घंटे में तैर सकता
है। शांत जिमें मिुष्यकी गनत तथा धारा की गनतका अिुपात ज्ञातकीनजए।

(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these



\Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
नशल्पा िे रुपये काऋण निया।कारिरीििे के निए 15,00,000। कंपिी प्रनत र्र्व 20% पर चक्ररृ्खिब्याजर्सूिती है।
उसिे तीि साि बाि भुगताि करिे का र्ािा नकया। िेनकिऋणकायवकाि के अंनतम र्र्व के निए, कंपिी िे नपछिे
एक सेब्याजिरको 25% बढा निया। निर उसे जो अनतररक्त रानश िेिी थी, र्हउसके द्वारा निए गएऋणकी रानशका
नकतिा प्रनतशत है?

(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these



\|
A completes a work in 25 days working 8 hours a day. A started the work and worked for one day and 
next day B joined him who is twice as efficient as A. On next day C also joined them who is thrice as 
efficient as A and this process continues. In how many days total work will be completed if they work 4 
hour/day.
A नकसी कायव को 25 नििो ं में करता है यनि र्ह प्रनतिि 8 घणे्ट कायव करता है। A कायव प्रारम्भकरता है और एक नििकायव
करता है तथा अगिे निि B शानमि हो जाता है जो नक A से िुगुिा सक्षम है। अगिे निि C की कायव में शानमि हो जाता है
जो नक A का नतगुिा सक्षम है और यह प्रनक्रया इसी प्रकार चिती रहती है। कुि कायव नकतिे नििो ं में समाप्त होगा यनि रे्
एकसाथ निि में 4 घणे्ट कायव करते हैं।

(A)4 7/15days (B)5 5/7days (C)5 3/4days (D)6 1/2days (E)None of these



\|The bus fare for one person is Rs.420 from Haridwar to Haryana and the train fare between the same 
places for one person is equal to three fourths of the bus fare for two persons between the same 
places. What is the total fare paid by 3 persons travelling by bus and 4 persons travelling by train 
between the two places?
एकव्यखक्तका हररद्वार से हररयाणा बसका नकराया 420 रु. है और उन्ी ं स्थािो ं के बीच एकव्यखक्त
का टर ेि का नकराया िो व्यखक्तयो ंका उन्ी ं स्थािो ं के मध्य के बस के नकराये का तीि चौथाई है। 3
व्यखक्तयों द्वारा बसका अिा नकया गया नकराया तथा 4व्यखक्तयों द्वारा टर ेि का कुि नकराया ज्ञात
कीनजये ?

(A)3642 (B)4096 (C)2890 (D)3780 (E)None of these



\|The speed of a boat in still water is 16 km/hr. and the speed of the current is 2 km/hr. It takes a total of 
9.5 hours to row upstream from Point A to B and downstream from Point B to C. If the distance 
between Point A to C is one-third the distance between Point B to C, then what is the total distance 
covered by the boat from Point A to B and B to C?
एक िार् की खस्थर जि में चाि 16 नकमी./घंटा है और धारा की चाि 2 नकमी./घंटा है | यह नबंिु A से
नबंिु B तकऊर्ध्वप्रर्ाह जािे में और नबंिु B से नबंिु C तकअिुप्रर्ाह जािे में कुि 9.5 घंटे िेती है। यनि
नबंिु A से नबंिु C के बीच की िूरी नबंिु B से नबंिु C के बीच की िूरी का एक नतहाई है, िार् द्वारा नबंिु A 
से B और B से C तक तय की गयी कुि िूरीक्या है ?

(A)136km (B)147km (C)129km (D)144km (E)None of these



\|
In a partnership A invest Rs. 34800 and was joined by B after 6 months with investment of Rs. 43500. 
After another 6 months C also joined them with investment of Rs. 58000. If after two years total profit 
of Rs. 25270 is obtained. Find the share of B.
एकसाझेिारी में A िे 34800 रूपये निरे्श नकये तथा 6 महीिो ं बाि B, 43500 रूपये निरे्श के साथव्यापार में शानमि हुआ
औरअगिे 6 महीिें बाि C भी 58000 रूपये के निरे्श के साथव्यापार में शानमि हुआ। यनि 2 र्र्व के अन्तमें 25270 

रूपये का िाभ हुआ। B का नहस्सा ज्ञातकीनजए।

(A)7500 (B)76800 (C)8550 (D)8210 (E)None of these



\|Sanju covers 20 km distance with a speed of 5 km/h, then he covers the next 15 km with a speed of 3 
km/h and the last 10 km is covered by him with a speed of 2 km/h. Find out his average speed (in 
km/hr) for the whole journey. (Approx)
संजू िे 5 नकमी / घंटा की गनत के साथ 20 नकमी की िूरी तय की, निर र्ह अगिे 15 नकिोमीटर की
िूरी 3 नकमी / घंटा की रफ्तार से तय करता है औरआखिरी 10 नकमी की िूरी 2 नकमी / घंटा की
रफ्तार से तय की जाती है। पूरी यात्रा के िौराि उसकीऔसत गनत (नकमी / घंटा) में ज्ञात कीनजये।
(िगभग)

(A)4.28 (B)5.15 (C)2.96 (D)3.21 (E)3.67



\|In mahendra the average salary of the entire staff in a office is Rs 24000 per month.The average salary of 
officers is Rs 92000 and of non officers is Rs 22000. If the number of officers is 15, then find the no of 
non-officers in the office.
महेंद्रा के एककायाविय में पूरे स्टािकाऔसत रे्ति 24,000 रुपये प्रनत माह है । अनधकाररयो ंका
औसत रे्ति 92000 रुपये और गैर अनधकाररयो ंकाऔसत रे्ति 22,000 रुपये है। यनि अनधकाररयो ं
की संख्या 15 है, तो कायाविय में गैर-अनधकाररयो ंकी संख्या ज्ञात कीनजये ।

(A)505 (B)610 (C)575 (D)476 (E)None of these



THANKS


